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~ 7 M Java ARt o srw T AR AR
O T 7 class Test2 B Az 2 7 5 » (8 4 )
@i funcA A28 ehrt iy o (5 4 )
EFp funcB #2;\ et 5y o (5 4 )
@Fp? funcC #2385y o (5 4 )
@I main #4258 et 5y o (54 )

1 public class Test2 B {

2 g public static void main(String[] args) {
3 int count = 1;

4 [ for (int 1 = 2; true; i++) {

5 S if (funcA(i) && funcC(i)) {

€ System.out.print(i + " ");

7 = if (count % 10 == 0) {

8 System.out.println() ;

9 }

10 [ if (count = g) {

11 break;

12 = }

13 count++;

14 - }

15} }

16 -}

17 -] public static boolean funcA(int num) {
18 % for (int 1 = 2; 1 <= num / 2; i++) {
19 [ if (num % i = 0) {

20 return false;

21 - }

22 = }

23 return true;

24 }

25 [ static int funcB(int number) {

26 int result = 0;

27 H while (number '= 0) {

28 int lastDigit = number % 10;

29 result = result * 10 + lastDigit;
30 number = number / 10;

31 - }

32 return result;

33 -}

34 [ static boolean funcC(int number) {

35 return number = funcB (number) ;

36 -}
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= F M CAENKRY  FY E T AR
OP T AfENZ# N o (64 )
@FP funcA f2;8ext it o (5 4 )
EFP funcB #2895y o (5 4 )
@z funcC #2358 ez it o (5 4 )
@FP main 4258 et 5p o (54 )

1 #include <stdio.h>
2 #define S 3
3 #define E 4
4  eint funcA(const int g[][E], size t p, size tt) {
5 int Ig = 100;
6 & for (size ti=0;1i<p;+H) {
7 |8 for (size_tj=0;j<t; +4j) {
8 if (e[ilj] <1g) Ig = [i][i;
o ||
10 1| }
11 return Ig;
12 [}
13 =int funcB(const int g[][E], size_t p, size_tt) {
14 int hg = 0;

15 2 for (size ti=0;i<p;+H) {
16 & for (size tj=0;j<t; +H) {

17 if (2[i][j] > he) hg = gfi][jl;

18 1 }

19 | 3}

20 return hg;

21 [}

22 =double funcC(const int sg[], size tt) {

23 int tl = 0;

24 for (size ti=0;i<t; +H)

25 tl += sg[i];

26 return (double)tl / t;

27 }

28 =int main(void) {

29 int sg[S][E] ={ { 73, 86, 68, 77 }.{ 78, 89, 87, 96 }.{ 81, 86, 90, 70 } };
30 printf("%d %d'n", funcA(sg, S, E), funcB(sg, S, E));
31 for (size ts=0;s<S; ++s)

printf("%u %.2f'n", s, funcC(sg[s], E));
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=~ F B Python #2543k 3 > 5w & 7R AL
OF SR FEE LR 2 (TA)
def main():
i=1
while i <= 4:
funcA(i, 3)
i+=1

def funcA(i, n):
for j in range(1,i+ 1):
print(n, end =" ")
n*=4
print()
main()
OF AR FEELIR? (44)
def main():

x=1
print(" {0:<5d} {1:<5.4f} ".format(x. funcC(x)))

def funcC()):
sum =0
for j in range(1, i+ 1):
sum+=j/(2*j+1)
return sum;

main()
G5B - B python f25% » v ¥ g4 4 500 B 0 3] 9 2 F erofffdic » I
SRR BB M ihs#k e (10 4)
mT AR ERE SR ? (48)
class ClassA:

def __init (self, count = 0):
self.count = count

def main():
¢ = ClassA()
times = 0
for i in range(0, 100):
funcB(c, times)
print("count is " + str(c.count))
print("times is " + str(times))

def funcB(c, times):
c.count +=1

times += 1

main()



